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B 325

Ig - A / SECTION - A

TS H¥T / Objective Type Questions
oy WEAT 18 100 7% ¥ Nedw wyT & Wiy 9w fweq g o &, fd ® ow
a0t &1 s grr g3 v W@ fwew #t oMR vz wr Rifgmm wF 1 et

50 oyl &1 3w & 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

50 questions. S0x1=250
1. wEpf o g foem mrem @ aifdfa i st @ 2
a) d@m (B) ferrad
(C) (D) w8 @ T
Culture is acquired by man through which medium ?
(A) Learning (B) Inheritance
(C) Birth (D) None of these
2. T - e R frwd fedh ae ) Feple T= 0%
AA) s B) w=m
- (C) HATHATHIRT (D) TyreffT

vdes a2

Whlch is the process through which the culture of a society is

transmitted to children ?

(A) Socialization (B) Accumulation
(C) Assimilation (D)  Actualisation
< TS @y |
(A) @feda (B) wAfw
(C) HIH THH (D) A9
.............. is the acceptance of ourselves.
(A) Personality (B) Attitude
Self-esteem (D) Leadership
4, ama:haﬂztfw ﬁaam%aﬁamnaﬂm‘,tﬂ ?
g Hhowdis (B) fame wraeg
(C) wRMRew D W@
Who coined the concept of ‘Looking glass self’ ?
(A) G. H. Mead (B) Sigmund Freud
C) Ruth Benedict (D) C. H. Cooley
IR Mg T FHSASW H1 IZT O 8 2
(A) ¥y AfEw B) . w. g
(C) #. wE g (D) famiz wae
25A/12/131 Page 3 / 24
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' [325
E According to whom is oral stage, the first stage of socialisation ? |
(A)  Ruth Benedict (B) G.. H. Mead
(C) C. H. Cooley (D) S;\gmund Freud
6 w3 anitfes Tl % 9 & JiaT FI H HE AT 8 ?
(A) ETEHdH TEAH (B) 3TEEpd
(C) uTEHlah Fer (D) wiepfas e

What is the gap between material and non-material culture known

as ?
(A)  Cultural identity (B) Subculture
(C) _ Cultural fusion (D)  Cultural lag
7. e d @ it qgg SR R 2
o @ T '
© wRER (D) i &g
Which of the following is a primary group ?
(A) Nation (B) Village
gﬂ’ _Family ‘ (D) Labour union
8. 4 forge fmiur ggdl % g wrsia @ € 2 2
(A)  E=H (B) =R
(C) w=Hfa (D) @A
Which of the following is formed from the interaction with others ?
(A) Identity (B) Personality
(C} Culture (D)  Self
9, 49§ 8 ¥ =@ Y@ GEENE B ARERT R 7
(A) wA (B) uf@mw
() ud (D) A
Which of the following is the most important socialising agency ?
(A)  Law (B) Family
(C_] Religion (D) School

10. He F i wla fgia fomss snur w & wure w1 fwm gan 2, w0 2
(A) uififs, difas, TEaEE)  (B)  vaEd), wiits, oifers
(C) wfes, yeard), wifs (D) THAFEIH
What is Comte’s theory of three stages on the basis of which
society has developed ?
(A)  Theological, Metaphysical, Positive
(B)  Positive, Theological, Metaphysical
(C) Metaphysical, Positive, Theological
(D) None of these _

QSAHQ“SI Page 4 1 N4
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11, FPfeadaddansiwd ®7 g ?

(A) 9 gy (B) AWty

(C) « =l F o qTEA (D) 3 @ o)

Which among the following is the function of family ?
(A)  Sex satisfaction (B) Procreation of child

(C) Upbringing of children (D) All of these
12. it g forfaa qeaes &1 4w 1 8 ?

(A) U (B) TeHIfaeme
(C) WHIITH (D) QUEETH
What 1s the name of the book written by Kautilya ?
(A) Arthashastra (B)  Political Science
(C)  Anthropology (D) Sociology
13.  37HW TEYT H U & 41 § ?
(A) AT (B) wE=d
(€) =™ (D) T&¥
Which is the second stage of Ashram system ?
(A) Vanaprastha (B) Brahmacharya
(C) Sanyas (D) Grihastha

14. =39 8 9 Jrded w1 yHH 7€ 8 ?
(A) Gl fger FEME (B) WIS JUEm
() fyarg w@ ufen # fufm (D) wfeafy frato
Which among the following is not the function of kinship ?
(A) Means of social disorganisation
(B) Social security
(C) Determination of family and marriage
(D) Status determination

15. ‘Frfim amm’ i raumen g sfamfed fear »

(A) HHE WA (B) 3y Y

) uw #. @ (D) wfeeHe

Who propounded the concept of ‘Missing Women’ ?

(A) Amartya Sen (B) Ashish Bose

(C) S.C.Dube (D) Sachchidanand
16. = § § w-ar g faga # 1@ ? 2

(A) SSTR (B) 39494

() foame (D) e

“Page 5/ 24
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Which of the following is not a Hindu ritual ?
(B) Upanayana

Chudakarana
o (D) Purushartha

E%ﬂuaiggag;arﬁﬁmmw%aﬁm%myﬁﬁaﬁmﬁlwag

17.
@/ @R |
a) HRTw By e B
) fed e (D) 3FICS & _ _
What is the name of person of Indian origin who 1s contesting |
US Presidential Elcction,' 2024 ? _
(A) Rishi Sunak (B) Kamla Harris
(C) Hilary Clinton (D) Donald Trump
18, Frfafias & & $H-T1 Wi 3 Giepfaw iy &1 gE% T § ?
a) T (B) S
© i (D) v o
Which one of the following is not an indicator of cultural diversity
in India ? '
(A) Race (B) Caste
(C) Class (D) Religion
19. ‘T HINl WH A% g9’ §Fh & @ A T S E ?
Ay TurEEe gEe B) . 9. @i
C) ™ sﬁﬁam - (D) w. LA |
Who among the following is the author of the book, ‘Social
Structure of Values’?
(A) Radhakamal Mukherjee (B) D. P. Muykherjee
(C) M. N. Srinivas . (D) S.C. Dube
20. T &1 fcfieo fFrafafga § @ frge qfom & 2
(A) gl
(B) dvdieto
(C) fawm @@ srenfich # fawm
\B)  EE § gfg ‘
anat.ization of education is a consequence of which one of the
following ?
(A)  Urbanisation
(B}  Globalisation
() Development of science and technology
(D) Increase in population
25A/12/131 |
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01, T 3 frw v & dreifts @, 2024 %1 JESE S w2
(A) hE B) A=
(C) =R (D) e
In which of the following cities the Paralympic Games, 2024 were
organised ?

(A) Paris (B) Tokyo
(C) New York (D) London
22, e aneeH feas gra ameew feRa a2
(A) TS HIET €N (B) TN AREW &Y
(C) & T faes (D) ETEETS E®
Who started Swadeshi Movement ?
(A) Lal Mohan Ghosh (B) Raj Narayan Basu

(C) Bal Gangadhar Tilak (D) Jawaharlal Nehru
23. ‘29 g e’ fra ad wifta fommn mn 2

(A) 1938 (B) 1930
(€) 1933 (D) 1935
In which year was ‘Dangerous Drug Act’ enacted ?
(A) 1938 (B) 1930
(C) 1933 (D) 1935
24, YA AR Al s 6 T few ad f g 2
(A) 2000 (B) 2002
(C) 2004 ' (D) 2006

In which year was the National Scheduled Caste Commission

established ?
(A) 2000 (B) 2002
(C) 2004 (D) 2006
05. TGl ¥4 8 ?
A) o dmw S e (B) w Bl i
(©) Uh @ aqg @ d@Em (D) T i
What is communalism ?
(A) A process of disintegration
(B) A planned action
(C) Related with an interest group
(D) A religious action

26 f¥m ad ‘wen FeEwt wHeE Wil fean mn e 2

(A) 1952 (B) 1953
(C) 1954 (D) 1955
25A/12/131 Page 7 [ 24
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In which year was the ‘Kaka Kalelkar Commission’ constituted ?

(A) 1952 (B) 1933
(C) 1954 . (D) 1959

o7 P i @ fw et & g wned @ ffedre’ e I @ 2

| (A) TS (B)
© T () @ o
In which of the following tribes is youth organisation known as
‘Gitiora’? -
(A) Gond (B) Oraon
(C} Munda (D) Khasi

28, v uda i 6 v few af i e 2
(A) 1857 (B) 1885
(C) 1917 (D) 1947
In which year was Indian National Congress established ?
(A) 1857 (B) 1885
C) 1917 (D) 1947

29. ‘i R @ H TS THH & AGH HH & ?
(A) . . gfER (B) . @, HifE®
(C) T g (D) W.%. €9
Who is the author of the book ‘Hindu Society at Cross Road’ ?
(A) K. M. Panikkar (B) M. N. Srinivas
(C) Ram Ahuja (D) N. K. Bose

30. fm & & frel wiore witad # et A H e waw R g 2
(A) BEE AW (B) Tt ®IBH
C) wRfe D) T
Who among the folloWing cmphasised on the role of charismatic
leadership in social change ?
(A} Max Weber (B) Rajni Kothari
(C} Sorokin (D) Pareto

31. oMMl ST  gel =S W A 9 YR auwmE o g% 2 2
(A) T e favar ok wEam
B) i % qew R R
(C) R g T M Iefted AR THIY I
(D) v foueh fem otk ot &1 arfivamw

25A/12/131
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Jajmani system can best be explain&éd by which of the following ?
(A)  Mutual trust and cooperation of the people
(B) Conflicting interest of the people
(C) Oppression and suppressive measures adopted by jajmans
(D) Conflicting interest and distrust of the people

yd ¥ Rar R wdwn | feg ad e &m 2

32.
(A)  1975-76 (B) 1990-91
(C) 1995-96 (D) 2000-2001
In which year did the family planning programme in India suffer a
setback ? _
(A) 1975-76 (B) 1990-91
(C) 1995-96 (D) 2000-2001

33. faun EeH a3 @ frae 3gEm @ ?
(A) WIS A (B) {URATA e
() uRfRufashim e (D) TEEEETEl e
Chipko Movement is an example of which of the following ?
(A) Redemptive movement (B) Reformative movement
(C) Ecological movement (D) Naxalite movement

34, ‘famme U=y’ # sraunon feaa i 2
(a) mfiy <F (B)
) €. 4. qa (D) . . ET
Who has given the concept of ‘Bimaru States’ ?
(A) Ashish Bose (B) Amartya Sen
(C) D.P. Mukherjee (D) I.P.Desai

35 T G % HNeAEA ° "’ WIg 1 WA wEd UEd fenm fehan w2
(A) s WY B) W #. g
(C) e difad (D) iy 91|
Who has at first used the term “action’ in the study of rural
society ?
(A) Raymond Firth (B) S.C.Dube
C) Oscar Lewis (D)  Ashish Bose

. 36. #‘mﬁﬁﬁamﬁﬂﬂﬁﬁﬁf%‘fé? -
(A) " (B)
(C) uREnr (D) Ffiad
Which of the following is not the kinship usage ?
(A) Avunculate (B) Couvade
(C) Avoidance (D) Classified
25A/12/131 Page 9 / 24
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| 940 |

B Pyl feFTa ) frg g @l & ?
37. ) a—‘,]‘fﬁﬁn‘lﬂ (B) ;g!?g'mﬂa'dl
Sval) Sigd Jem (D)

I{dC]w does modernization view development ?
) (B) Evolutionary

(A) Revolutionary
(C) _ Longer life expectancy (D)  All of these
38, F] 1 HIAH F1 8 2
(a) fuen (B) HHIA
) - (D) A
What is the means of cultural transmission ?
(A) Education (B) Society
(C) Language D) Archaeology
39, W & WTEIE 91T & IHTER T2 ?
(A) A A e B) ¥ fora
() D) @I % g @ &
According to classical phrase of Marx what is proletariat ?
(A)  Class in themselves (B) Class for themselves

(C) Class by themselves (D)  Class through themselves

40. 9EA g1, T W M 7¢ W B B T TPl A& P
8y SiTEA (B) UTE

€ ®w (D)
Who said, “Civilization is always progressing but culture is not” ?
(A) Johnson (Bl Maclver
[C] Spencer (D)  Merton
41. ‘"' qragr A fopw Aot & arala amdt @ 2
(Al i e (B) fidftrs Trerh

(C) s Ared (D) =gds TR

‘Mother’ comes under which category of kinship ?

Eg} Primary kinship (B) Secondary kinship
) Tertlary kinship (D)  Quaterna ' i
ry kinshi
42.  UZE UM & 1 0 R o "
(A) e A dueh (B)  §TN g3l w1 3UE
(C) wwlia & &1 g (D) 39 & ;ff
What is the reason for the spread of AIDS ?
(A)  Unprotected sexual contact
(B)  Use of shared needles

(C) Contact with infected blood
(D) All of these

[ 2547127131
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43.

32
98 &A1 G HH R R e w1 safRm st fen st [-sﬁ-;;
1 IECAT HATANTH FH71 AT 8 ?
(A) <X (B) §Hm
(C) UTHE e (D) ww
Who is the first philosopher who undertook a systematic study of
the society and is said to be the first sociologist in the history ?

(A)  Plato (B) Socrates
(C) Thomas Aquinas (D)  Comte
44, WIIRI 377ey ) 3R I FHAT Fea 2
(A) whi$h (B) frmm
(C)  gEa (D) A
The action oriented towards a social norm is known as
(A)  Acceptance (B) Control
(C) Conformity (D) Approval
45. Y1 AN A 3 [EHR IR G2 B HEl A 2
(A) TG B) H
(C) wivay (D) 3maR-RER
The rewards and punishments associated with role expectations
are known as
(A) Norms (B) Values
(C) Restrictions (D)  Mores
46. o ¥iwa frge grr 8 =1fh o gura ) epfa draar 8, W g s d
AT AT R P
(A) HERAE (B) TR
(C) TEHfaR (D) 3
The process by which an individual learns the culture of his/her
society is known as
(A)  Socialisation (B) Internalisation
(C) Sanskritisation (D) Modernisation
47,  yifie a9qa o GAE 1 GE9 HEEqul AR w1 R ?
(A) wfER (B) wHheR yuE
(C) T (D) ®g Hifgm
What is thg most important agency of socialisation in the early
childhood ?
(A) Family (B) Peer groups
(C) School (D) Mass media
[Z5ar12/131 Page 11 /24
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B o e e L
(a) @l 1 =S R (B) i,

(C) TR i WIEAT FT I (D)
Which of the following features be
(A) Large group of people

(B) Face-to-face relationship
(C) Lack of sense of belonging

(D) Formal relationship

40, Frefefigd § @ #9 THA THal TRYE S AW & ?

longs to the primary group ?

(A) ¥ % Tgala (B) WA & §EA AR

(C) TAHEV =AY (D) WRd & FuEA |
Who of the following is the chairman of the National Integration
Council ? .

(A) President of India (B) Chief Justice of India

(C} Speaker of Lok Sabha (D) Prime Minister of India
50. &4 THA Uehdl &l Evasdl #1 & ?

(A)  ETEIRE- s fawm #1 @@ ¢ % T

(B) TE I 3 3N THae 41 & fefe

(C) = Taaar & gifaa w@H & fag

(D) ¥ & ,f

Why do we need National Integration ?

(A) To promote social-economic development
(B) To make the nation solid and united

(C) To keep our freedom secured

(D)  All of these

51. ‘Hivet Tffhdher e 99 3 3R ame gwaw frad foran o

(a) anig fag (B) . @. st

(C) TH. @. %ui (D) e g

Who h ' ‘Soci ' '

who ?as written the book ‘Social Stratification and Change in
(g) Yogendra Singh (B) M. N. Srinivas

(C) M. N.Karna (D)  Leela Dube

52. IW WA ¥ qrde § wefug wrEe 1 g fray & 2 o
ETET
T (D) . g, wufy

(2547127131 ] — -
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ﬂ Who has given a list of kinship terms in North Indja » [325
(A) A.R. Desai (B) Irawati Karve
(C) N. K. Bose (D}y K. M. Kapadia
53. WTE-¥HISTETG, AT 3 A geEm - 4 @ fewd s 2 5
(A) SRl (B) @y
C) ¥R (D) Wi e
Nepotism, fgvouritism and misuse of power are examples of which
of the following ?
(A) Ignorance (B) Conflict
(C) Corruption (D)  Social solidarity
54, TEIH 1 AENd 1 8 ?
(A) el weer (B) Wi
(C)  Y&a 3R 5gww (D) ¥ & H 7
What is the ethos of Islam ?
(A)  Messianic historical (B) Hierarchal
(C) Purity and pollution (D) None of these
55. gae Rt 3 fm o @ frw fagia + wfaaiea e 2
(a) Wy wifa F firgma
(B) wifa sHaEn & wifds g
(€) i syaEyT F FEETAS g
(D) fa &1 et g
Which one of the following theories has been propounded by
Herbert Risley ?
(A) Theory of dominant caste
(B) Religious theory of caste system
(C) Occupational theory of caste system
(D) Racial theory of caste system
S6. ey frvarg o e u @I qREdd 1 AT I @ ?
(A)  HTel AT (B) TR A
(C) 37T Wik (D) Ui qEiw
Who believed that religion is a precipitator of social change ?
(A) Karl Marx (B) Max Weber
~(C) Auguste Comte (D) Emile Durkheim
S7. #ﬁmamagﬁa%agammaﬁmﬁm?
A) DT 15 (B) ITHT16
b} 3R 12 (D) TR 17
mnnn”nf | Page 13 /24
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The constitution has abolished untouchability under which Article ?

(A) Article 15 (B) Art?cle 16
(C) Article 12 (D) Article 17
widtg ded B P-T1 Fud G4 8 ?

58. )
(A) Frfa SN geifa d w99 @ ]
(B)  Wfa e FAAR & T & Al 2l @1 8
(©) e 3t wfy sxaeTd U g A fete @ @ 2
(D) e HawT @ B W@ R
In the Indian context, which statement is true ?
(A) Caste system is entering into politics
(B) Caste system is declining but class is becoming strong
(C) Class and caste systems are overlapping
(D) Caste system is withering away
5. et 2w # wed & § wAaTel SHEEn % I9E A 9fg H fm d a4 T
FE TG B ?
(A)  Iufrasfiat (B) wE{RT
(C) TaswmEA (D) IS fawm
The increase in the proportionate population in urban areas of a
country is known as which of the following ?
(A)  Colonisation (B) Urbanisation
% Rustgtion R ([% Unplanned development
60. e H feamym 3 98 w1 f gaewmE v g faam 2 e
© feran D) oo
(C) L (D) 4 e
Which school of thought opined that sociology is a general
science ?
{(éJ’ \Sjynthctic l:chlool (B) Formal school
ienna schoo (D)  Conflict school
61. fou =, “3dm sy wRa % dfe 8 2
A HETcH]
o ’"‘ﬁm (B) TR WA
(D) VEMI YEIG @i
Wh 4 “ .
" o said, “Industries a‘rc the temples of modern India” ?
(A)  Mahatma Gandhj B |
(C)  Jawaharlal Neh (B)  Sardar Patel
62. frafafga § @ Eﬁ"l-mm@ (D) Shyama Prasad Mukherjee
T 2 o FE MY § Fomers w9 A G8-
(A)  aePfa
(C) 3uaAfst srfirson Eg}) HZ2 Uritferqy
| 25A/12/131 I
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B which one of the following factors is negat; 1325}
modernization ? gatvely correlateq wip
(A) Em;_jathy o (B) Orthodox religiosity
(C) Achievement motivation {D]. Cosmopolitanism
faqﬁ%nmaiiaﬁﬁzﬂﬂww%;mtmrrﬁ'qﬁmarﬁ% ¥ upee

63. o 2 2 T F RS Iy
(A) = ¥ (B) W ST
(C) 3. 4. g (D) HYHER

Who has mentioned ‘purity and pollution criteria’ in th

caste hierarchy in India ? © study of
(A) Andre Beteille (B)  Louis Dumont

(C) J. H. Hutton (D) Majumdar

»

64. ﬁmﬁﬁaﬁq—mmﬁﬁ%mwa‘mﬂﬁ%ﬁ
(Ay HEPId B) ud

(c) v (D) THA uelle (T=etm)
Which one of the following is not a source of diversity in India ?
(A) Culture (B) Religion
(C) Language (D)  National Emblem
65. ufvaHYesul ) @unen Hfifaw 3 fhe a¥ wfaorfea fFan 2
(A) 1952 (B) 1956
(C) 1957 (D) 1962
In which year did Srinivas propound the concept of westernization ?
(A) 1952 (B) 1956
(C) 1957 (D) 1962
66. %ra i garw i g S #1347 feul I @ 2
(A)  ITTET IR (B) E=
C) FHE (D) TEW

Who is credited with the establishment of the foundation of

sociology in France ?

(A) Auguste Comte (B) Spencer

(C) Aristotle (D)  Durkheim
67. ‘T pfze ®1E G fra w ) fan @ gefia @ 2

(A) WS W (B) el &

(C) I=aar AEAHH F (D) 3= fian | :
‘Students Credit Card Scheme’ is related with which stage ©

education ?
(A)  Primary stage
(C) Higher secondary stage (D)

(B) Secondary stage
Higher education

5/ 24
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B frm § @ @A faaTE

68.
(A) srafdarg
() sprraaA A
which on¢ O

marriage ?
(A) Endogamy

{ the followin

ﬁdtﬁﬁﬁﬂ%mﬂﬂaﬁaﬁ%?
B) afefdams

u (D) T 8@

(B) Exogamy
(D)  All of these

- ﬁgﬁtgfgﬁﬁﬁw@aﬁ%mﬁm%?

g is known as prohibition regarding

69.
(a) R (B) A
(C) (D) ded
Which among 'the following castes does not come under the
Extremely Backward Class (EBC) ? ,
(A) Teli (B) Nonia
(C) Nai (D) Yadav
70. gﬁﬁﬁmﬁﬁwaﬁﬁu—cﬁwﬁfimg?
(A) o ®)
) =R (D) dr=
Ghurye has classified the problems of tribes in how many parts ?
(A) Two (B) Three
C) Four (D) Five
71. g, ‘gAY 3R THEw 391 984 8 ?
(A) T THA. HIE B) #. %. AfeERh
€ T (D) IR, A

Who said, “Sociology and Anthropology are twin sisters” ?

(C) F. Ginsberg

72. T R gE hEi

(A) T 3EN
(C) =red ifdw

(A) A. L. Kroeber (B) B. K. Malinowski
‘ (D) R. Brown
?
(B) fhasr faw
(D) HHEH

Who wrote the bo
(A) Ram Ahuja

ok ‘Human Society’ ?
(B)  Kingsley Davis

C) _ Charles Darwin
73, e (D)  Maclver
(A ?‘ fog forame s wififes s 2 2
O & o ® A
o T (D) ¥. w. R
0 said, “Hj . ‘
(A) {I;:l’l.dl':l. I;;gg;lumarnage 1s a religious sacrament” ?
(C) K.M. . (B) P.V.Youn
Kapadia (D) K.N. Panil%kar

25A/12/131
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E Wﬁaﬁmﬁmuﬁﬁéﬁﬁﬂ%? 13251
a) &= p (B) Hfem
) e (D)  ard
Conccpt' of rebirth is associated with which religion ?
(A)  Hindu (B) Muslim
(C) Sikh (D)  Christian
-, auiead aydl e # | e Triqn & ' @i R o
(A) i (B) =
() (D) @
Classificatory affinity is associated with which of the following
relatives ?
(A) Bhabhi (B) Chacha
(C) Mausa (D) Mama
76. WY@ fagR w1 ga e e 2
(A) ¥ A B) o AwrE fig
(€ (o gust D) fag 3w
Who had led the ‘Santhal revolt’ ?
(A) Bheema Nayak (B) Veer Narayan Singh
(C) Birsa Munda (D) Sidhu and Kanhu
77. Mﬁmaﬁ%mm&mmmmﬁuﬁﬁm
JTE 2 ? '
(A) YRR (B) HEH{aHI
(C) TRt (D) v
Wearing sacred thread like Brahmins by a low caste person 1S an
example of which of the following ? o
(A) Modernisation (B) Sanskntization
(C) Urbanization @) Westernization
78. ‘waen v Fi A A TUHEE R 2 .
(B) e Afgenan W
A I T 7 q @ff
€ frmfE W (D)
The ‘SABALA’ scheme is centred on which of .the following ?
(A)  On maternity benefit (B} On destitute women
(C) On adolescent girls (D) All ;’; them
. Wmﬁﬁqﬁaﬂm@nﬁﬂﬁﬁaﬁq— X
() HgET o T
© (&) 3 B (D)
- ‘Page 17 / 24
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B which of the following is the fa

80.

81.

82.

83.

R4,

_25A/12/13]

| 328
mily system of Munda tribe 2

B Patriarchal
(A) Malri;-u'(:hﬂl (B)

(C) Both (A) and (B} (D) Neolocal
ofufa 1 e f= A ﬁﬁaﬂ
(A) “Ig;w (B) qa]'q?ﬂ U]
AT HAT D) IHEESD
2a ( dations are related t

Balwant Rai Mehta Committee’s recommen

which of the following ?

(A) Women .
(C) Tribal welfare

(B) Panchayati Raj
(D) Minority

afrea i i @ frws Afva Teq @ ? ]

(A) TPl (B) &R (Wid)

(C D) fis

Personality is the subjective aspect of which of the following ?
(A)  Culture (B) Mob

(C) Audience (D) Crowd -

@ﬁﬁﬁnﬁﬁmﬁmmqﬁaﬂ%m%mmﬁa%
mmﬁ_ﬁﬁmi?

(»)  wEH (B8) femm
€ = (D) safee

Which of the following develops in a child only through the
interaction with own family members ?

(A) Culture (B) Mind

(C) Self _ (D) Personality

o1 & foe s fopn 9 aret @ 6 ® wE ST R

(A) a‘qﬂ qqg (B) m:m];s _

(C) & wuE (D) I Tg

What is the group used for comparison called ?

(A)  Reference group (B) In-group

(C)  Regional group (D) Practitioner group

L s R R s e— S
' gfRal i 25,000 %o
(A) T F=p 3y 3) B) 00 ¥o ) Braghy & Sl 2 2
(C) &Eﬁmaﬂ}awﬁ ST QI
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Under which scheme are graduate girls given a scholarship of
Rs. 25,000 ?

(A) MukhyamantryKanya Utthan Yojana

(B) Sabala Scheme

(C) Beti Bachao Beti Padhao

(D) Janani Yojna

85. gfgw & fore fera e Fuffa 2 »

(A) 3,000 %o (B) 4,000 %o
(C) 5,000 %o (D) 6,000 %o
How much honorarium is fixed for Mukhiya ?
(A) Rs. 3,000 (B) Rs. 4,000
(C) Rs. 5,000 (D) Rs. 6,000
86. W%ﬂﬁ:ﬁwﬁgﬁﬁﬁamﬁwﬂmﬁa%mw%ﬁ
(A)  hara goarefi (B) 31 &R
(C) TN g TS (D) WL &\

Who has?been awarded by Nobel Peace Prize for child labour
eradication campaign ?

(A)  Kailash Satyarthi (B) Anna Hazare

(C) Malala Yusuf Zai (D) Mother Teresa
g7. =W fdmang >

(A)  uififes fe&a

B) U fEa

(C) gRER % 3@t gHare fean

(D) wrER fear

What is domestic violence ? ,

(A)  Religious violence (B) Rural violence

(C)  Violence within family (D) Community violence
88. fam i § P HE A F FAW 8 ?

(A) 3w fsem (B) dwdgf

(C) oo faamg (D) THa|f

Which of the following is a cause of human trafficking ?

(A) Extraction of organs (B) Prostitution

(C) Forced marriage (D)  All of these .
89. 3m.ud.om., uiftts AT G P HRA A A F P wd A 22
(A) ?;% (B) T
(C) (D) TEQ
25A/12/131 Page 19 / 24
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is associated with Whigj

E [SI, the religious terrorist organisation,

he following ?

ligions of t
W Hind ) Jadaism
90. i{”'-‘rctl! ﬁczgrmﬁﬁ’ﬁsuamtywr&ﬂu R & fer ‘et A Afa H FTE
# e
sfiframd
@) o @ gk B O
© % & D) SR

e ‘Policy of Isolation’ for the tribals of India ?
(B) M.N. Srinivas
D) Verrier Elwin

Who advocated th
(A) G.S. Ghurye

C) K. Baile (
oL o e e e, Gl sh R 1 whe @ afEd # R
(A) HEE B) &
(C) (D)
Who said that the process of thesis, antithesis and synthesis is th
law of change ?
(A) Marx (B)  Hegel
(C) Coser (D) Dahrendorf
92. fewd we, WA AT AggE & fawm 2 2
(A) AP (B) &
© fféwm (D) ATTEd 3R fsi®
Who said, “Sociology is the science of social groups”
(A) Maclver (B) Johnson
(C) Giddings (D) Ogburn and Nimkoff

93. frEd ww1 % “Sdim | 5
i o § 9fEda &) G & e o qumnadt |
@A) & b qadf (B) K. %, q@dli
€ gfd (D]] e

Who said that “to under '
: stand the change i : ) _
of its traditions is essential” ? g¢ in Indian society, stut

:g]] (D}hz,-y h:ukherjec (B) R.K. Mukherjee
0s. P 5 (D) mséachchidanand
(A) foIm 1 fawmg ’

(B) i wisfierar

(C) w=aifyw o
(D) ngw
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B

Which among the

[ 325 ]
modernization ?

fOHO in i
W 15
g characteristic of

not the

(A)  Development of science an
(B)  Social mobility

(C) Development of democratic values
(D) Importance of tradition

d technology

' 95. UM 49md ¥ wmay
v A g oy e >
ES}’”Q: d be th (D) 31 ad
dal snou e the S
voting of Gram PanChI:;I;ln;um age of the voter to take part in the
(gl 21 years B 18 years
(C) 25 years (D) 31 years
(A) T (B) =v@
& mn ()
Which of the following is the natfonal bird of India ?
(A) Swan | (B) Duck
(C}  Peacock (D)  Parrot
97. WY GUTA 9y @A 4 fRR smuR w fim @ 2
(A) gﬁ@ (B)  wam
(€) LRIl (D) Hgam
Human society differs from animal society on which ground ?
(A)  Culture (B) Protection
(C) Monogamy | (D) Cooperation
08. fuy =idt wgen fafafea 4 fema 991 2 2
(A) Tt A (B) wifif® wama
(C) 3Neifies g (D) I @
Indus Valley Civilization is associated with which of the following ?
(A)  Rural civilization (B) Religious civilization
(C) Industrial civilization (D)  Urban civilization
99. fim & @ a-w ud H aifs e @ ?
Ay GEpiael (B) wHFsietm
(€) ufvadfiewto (D) . ATYAHIH | o
Which among the following is the logical explangtlon of religion :
(A)  Sanskritization (B) Scculan:zat?cm
(C) Westernization (D) Modernization -
25A/12/131 Page 21/ 2% 4
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100. | 17
Eg; ig/ :: ) 222116(1 ?
~ itish rule establi
ich century was Britis
‘RJ“’h‘TGm | 17
Ec] 18th () 20th

@z - § / SECTION - B
tions
H‘Iaﬂ'ﬁ'ﬂm / Short An.uwer Type Ques |
vy wear 1 ® 30 oy T & 1 Rt 15wﬂ¢mitm$—ﬁn

2% faifa ¢ : 152 =30
Question Nos. I to 30 are Short Answer Type. Answer any 15 questions,
Each question carries 2 marks : 15-x2=230
T P R e e T

Describe two functions of clan. )

2. urfior &t F SR wwgd H @ awenait w sgE ) |
Mention two problems faced by agricultural labourers in rural
areas. -

3. TR ud ) & vy fesded w ywm o)

Throw light on two salient features of tribal religion.

4. HITA MM F § yEuE B g
Write two provisions of Mandal Commission.

5wt Ry & Q sfved | Rl
Write two rights of girl child. .

6. WA O A ufere daul H yR @ frd
Write the nature of joking relation in tribal societies.

7. el § yafea e & Pigt @ 9l @) '

Describe any two taboos prevalent among tribes.

8. IMuifs wifa & @ =l = R
Write two causes of Industrial revolution,
9. Y & T WER F 3IZT@ w)
Mention two types of Purushartha.
10. AT ofEm 6 3 fasvaad &1 33w =)
Mention two features of tribal family.

11.  Fevfis & wrfy swaea wog mEt w fd)

Write two impacts of industrialization on caste system

= .
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13, rgfm oy 1w ol 4
What is meant by scheduled caste ?
14.  gitem afkensii 6 gy w1 R #
Analyse the status of Muslim women.
15. <fea =11 v FEA B ?
Which is’called the Dalit class ?
16. A & ) wdsl &1 vl H
— 1- Describe two duties of Vanaprasthi.
17. 9= T A awetar § 3 qwisdl 9 NS S .
Throw light on the two obstacles in the success of Panchayati Raj.
18. wiER <™ & ?EI Tl I Gﬁ‘@ &Hi| https:ﬂwww.bsebstudy.com
Mention two functions of family court.
19. "y @ Fn ¢ ?
What is social development ?
20. ® ¥ frarem & g@ed &1 avig wi
Describe the organisation of child labour school.
21. XofRe da w1 gy fraae & feafsmia 2 ?
' What kind of players are associated with Paralympic Games ?
22. wE # yfty gim ) 5 @ Aifedt w1 g K
Mention any two policies of land reform in India.
23, WYHAT G § AT T HIFd & ?
. What do you understand by bonded labour ?
04, fam H @ Tl R w1 fad) _
Write two cultural features of gender.
05, wrdrg ey d wientas fafauar A QA e w9 ford)
Write two features of cultural diversity in Indian context.
ne.  wfy 3R e & HR W IT 2|
Thrﬁw light on two differences between caste and trﬁ)e.
07. auf sqaedl 6 Q fadmaadt =1 3gw )
Méntion two features of Varna system.
25A/12/131 B
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RUCR I o0 S ae———r e ]

Throw hght on the necCssit}r of industria]ization in India.
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28. =M P FR?

What is town planning ?

29. ﬁmaﬁﬁ‘mm%amﬁﬁ%ﬁl

Yojana.
Write two provisions of Bihar Janani Suraksha YOJ

10. ngmmi?

What do you mecan by Sansxt Sanskritization ?
#d uig ¥ / Long 'Tone Answer Type Questions

vy §eT 31 ® 3sa‘?u‘awﬁzrm=r_t | et 4 avA F IE rn::a
o AN tions. Ans
Question Nos. 3] to 38 are Long Answer Type Ques : p
4 questions. Each question carries 5 marks :

31, wifae aiada § A & e S IT H
Highlight the role of globalisation in social change.

32. W gEW A e FEEn w1

‘,.-r

What are the main problems of rural community ?

33. WHANS daq § WEER W TS HEu fad)

Write an essay on corruption in public life.
3$_.,-Wwﬁmwﬁmﬁﬁﬁﬁmaﬁl
_’/f -
Discuss the concept and characteristics of westernization.

g&/mmﬁmﬁﬁﬁwmmﬁﬂﬁﬁmﬁn

Discuss the present changes occurring in the status of schet

castes.
36. WY wata § afgensit 6 wiafda wfeafa € faagar =51

Discuss the changing status of women in Indian society.

37/mmﬁﬁﬂﬂt?mm%gmmwg?

What is Gr 8abha ? What are the major functions of

sabha ?
38. mﬂmmﬁﬁmﬁuﬁaﬁmaﬂhml

Desacribe the changes taking place in the caste system at predsi
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